SLO # 6 questions
Exam # 1 

Question 1.1 (6) (a)Global warming has been in the news a lot lately.  What is a piece of evidence that convinced you that it is a threat we should all take seriously? (b)  We discussed many possible solutions to the global warming problem.  Describe the solution you feel most strongly would be successful  and include the possible difficulties in implementing this solution. (c) Describe the solution you feel most strongly about that would not work and explain why.

1.6 (5)  What is an extinction vortex?  How does our human population interact with the extinction vortex?  Why should we be concerned about it?

1.7 (4) IN the milk lab we expected to see gram negative bacteria that digest butterfat, then gram positive bacteria that ferment lactose to lactic acid and then yeast which metabolize acids into nonacidic compounds and finally Bacillus bacteria that metabolize proteins into ammonia products.  (a) what is the expected progression in terms of pH?  (b) Which milk would have more activity with the gram negative bacteria – nonfat milk, 2% or whole milk?  Why?  (c) what is the process that we are studying in this lab?  Explain (d) How does this relate to ecosystems?

Exam # 2

Question 2.3 (4) Explain two of the pieces oaf the evidence that Darwin (and others) have used to support the theory of evolution

2.8(4) How is the evolution of prokaryotic metabolism an example of succession?  Include a definition of succession in your answer.

Multiple choice:  IN the forests of the southeastern US can be found several closely related frog species of the genus Rana.  The species boundaries are maintained by reproductive isolation mechanisms.  In q17-21, match the various descriptions of frogs below with the appropriate reproecutive isolating mechanisms listed.  There is only one correct response for each item, but some mechanisms may be used more than once, others not at all.

(a) behavioral  (b) gamete incompatibility (c) Habitat  (d) temporal (e) mechanical

2.17 Males of one species sing only during rainiy conditions; males of another species sing only when it is not raining.

2.18 One species live only in tree holes, another species lives only in streams

2.19 Females of one species choose mates based on song quality, females of another species choose mates on the basis of size

2.20 One species mates for two weeks in early April, another species mates for three weeks in early May

2.21 Males of one species are too small to perform amplexus (an action that stimulates ovulation) with females of all other species.

Exam # 3

3.1 (2) What are two reasons that Fungi are ecologically important?

3.7 (4) Why are annelids referred to as lords of the rings?  What evolutionary development was important that is found in annelids?  Why was this important to success in a terrestrial life style?  Why are arthropods similar to annelids?

3.10 (4) None of the sponges or cniderians move rapidly.  What necessary features are both of these phyla lacking in order to have a more mobile lifestyle?

3.12 (4) In the movie “Life in the Undergrowth” we saw examples of 3 different phyla that had successfully invaded land.  Give examples for each of the three phyla in water and on land and explain your answers.

Practical #24 (2) What are two reasons that the evolution of flight was important?

Practical # 16 (2)What phylum does the leech belong to?  How is it used medically today?

Practical # 12 (2)What phylum does green algae belong to?  What is the organisms this is the probable ancestor to?
Exam # 4

4.9 (3) Which are more diverse species – gymnosperms or angiosperms (b) What was necessary to coevolve for the more successful type of plant division to become so successful?  Why?  (c) A hypothetical angiosperm opens its flowers only at night.  The flowers are dusky brown and emit a putrid odor.  The pollinator is most likely to be what kind of an organism?

